: A charge g is enclosed in a cube, The electric flUX associated with one of the faces of cube
15 -

Th S g UF a7 § ofieg 3 |w€ﬁ@wﬁﬂmﬁma€ﬂwm-%*

4. q
B ® g8
bq ' €y
3 © =

2 Three charges +4 g, O and g are placed on a straight line of length ¢ at points at distances

l -
0,—2- and { respectively. What should be 0 in order to make the net force on g to be zero ?

A o 4 q, Q R ¢ T ¢ @ e Y o wE: 0,5 ohe ¢ g W Rew ¥ |

3

memsﬁ_mﬁqwmmwﬁﬂmﬂwamﬁm& ?

(A) =4, ] (B) ‘“2‘]"!':’ 5
; _ .

(©) _E . _(D)_..4q!

3 A charged oil drop is suspended in uniform field of 3 x 104 ¥ m~! so that it neither falls nor
tises. The charge on the drop (take mass of the drop 9.9 x 1015 kg and g ~ 10 ms=2) is -
@ e A B §K 3% 10 Vol § W @ ¥ el o ¥, 9% 7 ot 99 Pt & o
T wedh ¥ 1 A B AS T Mgy ¥ (7 W qeww T 9.9 x 105 kg T g 10 ms~2)

&) 33x10-18C (B) 32x10718C

©) 16x10-18 € (D) 4.8x10718 C

4

The effective registance between points 4 and B in given circuit is —

™ Wy ¥ g 4 F B E ey gfqy ¥ -

10g
A
‘C) 5Q B) 100
© 40q @) son
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A potentiometer wire is SUpplieq e of 3V-A cell of emf 1,08 ¥ is balanced
by the voltage drop across 27 6 cm‘!g?stt;.:t “Ti(:e  total length of the potentiometer wire
150= el

(A) 200 cm Rt ®) 400 cm

[C) 600 cm D) 800 cm .
@W@aﬂﬁmwﬁﬁmwmm% | 1.08 V fq.ars, amr &«
zleﬁﬁmwﬁwgwm% | forgdl AR BT Pl g ER -

(A) 200 & @) 400 ¥

(C) 600 & (D) 800 ¥

Can We use COpper wire as a potentiometer wire ? Choose the correct option.

(A) No, because its resistivity is very high.

(B) Yes, because it has small resistivity.

(C) No, because it has small resistivity and also its temperature coefficient of resistance is
very large. -

(D) Yes, because it has very large temperature coefficient of resistance.

01 79 A ¥ AR BT SUANT FwaEY (potentiometer) TX % 9 H BT Wb & ¢ WEN ferehed
Tl

(A) T8, Fife e AREHa 95a 3w Bl & |

(B) &, witH e AirEdal 9 el & | :

(©) &, i zaa sRrduwa & A ¥ G TRy @ arie 9 A e € |
(D) &, wifs sqb Wy B 9IS 5 AfEE B ¥ |

7 Potentiometer measures the potentia'l difference more accurately than a voltmeter, because :

(A) Tt hasa wire of low resistance.
(B) It has 4 wire of high resistance.
(C) It draws a heavy current from extemal circuit,
(D) It does not draw: cuErent from external circuit,

. ey g gl A R S S ¥ e ¥, w4

(W) 591 A o wiaw @1 € !
®) @ qr sor ghrd @ E !
© % Ed ey @ ged 9O O T |
(D) %mqﬁqﬂﬂwqﬁﬁ%l

In Young's donbleciden pcril-'ﬂem' ﬂ'?df;llonc?chromatic source of yellow light is replaced by
that of a red ope light then pge ¥ ng i deia

(A) increase ED; i

(©)  remain un .

) changed o

W% oo e o a9 TR T SO 2 7 e s T A T e
T R =)

(A) 77 sy (BD) - ;ﬂ]—gpﬁl

©)  srfaffg S I

LAL‘LB] G | 3 _ [P.T0 .
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‘ . ] | 21 (A)
g . ot the slit SCParation is | mm and the screen is 1 m from (B)
In a Young's double slit expertmen f wavelength 500 nm, the distance of 3¢ minima from o)
the slit. For 4 monochromatic light © : ! (D)
the central maxima is - 5 : a-,- - 3 (
j : ¥ e Tl 1 mm iR w3 @Y el & o
9T & TH fy = (double slit) T CLCLE
1% fifss Sfas @ =
1m%1%500maw%2ﬁﬂﬁm“ﬁmé) ?‘EST; kil e (A)
©). 1500 - AR ©
10 Brewster's law is - "
TR 1 gy & — @) "
(&) 1,=90° ® lp_ | 2  Consi
(© i,—r=tanp (D) i,=tanp | A is pus
(Where | = refractive index and i 5= POfﬁI'i_Sing angle) ::‘;?g
(el 1= st war i, = gam 7m) H0T @
5 11 In Fraunhofer diffraction a single slit, if slit width is decreased, the adjacent minima wil] - :
(A) come closer (B) move apart : ;
(C) remain at the initjal positions (D) come closer initially and then move apart (A) d
wmm‘mﬁaﬂqﬁv&ﬁﬁaﬁﬁzﬁmﬁm,a}ﬁmﬁﬁm; :
(A) 9g R : (B) [ & :
(C) oo+t Rafy w3 o <29y (D) weet 9RO RAT gT B © 3
12 The longest wavelength in Balmer series of hydrogen spectrum will be - 23 g
AT A AN N ot o e gy | i
(A) 6557 4 (B) 1216 4 . (A) 1.
(C) 4800 A (D) 5600 A (C) 1t
13 When hydrogen atom is in jts first excited state, its radius compared to that of ground state # THI
18 - :
(A) same (B) half (A) 13
(C) twice (D) four times . (C) 4.1
T%mwmﬂﬂhamﬁmtmwmwmﬂ%ﬁmﬁw W T
2 | | sarr
(A) qUeEx (B) @ﬂ%ﬂ Pressyre
©) g (D) =TT Tom compreg;
14 = . ; i
ilsh? energy required by a hydrogep atom in ground state, to move to its first excited state ; gg; ;1’101
| €8s
Wwﬁmwwﬁwﬁmwﬂﬁﬁ%mmmw Mﬂ'ﬂt
A) 136 ' - e v,
© 102 :g il | ; /2
D) 122V | B g

4
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17

18

The binding energy per Nucfeq

leus is about N for 5 deuterium nucleus is 1.115 MeV. Mass defect for this
nucie =

1 AT T & w%:{ﬁﬁaﬁﬁl.lliMeV%'sﬁW%ﬁﬂffWHﬁT
@l |1 = .

Ay 223U 2

. 0.027 u (B) 0.002% %

L (D) 0.0012 u

The electron emitted in betg
(A) inner orbits of atoms,
(C) decay of a neutron in a pyqjei

radiation originates from = s :
: (B) fiee electrons existing in nuclei.

(D) photon escaping from the nucleus.

ﬁaﬁﬁﬁﬁﬁmmﬁm%_
(A) T % STIG Bt q (B) A ¥ RIEE g e A
(©) s ¥ TE & & § (D) i ¥ P AW W ¥ |

When JLi is bombarded with a certain particle, two alpha particle are produced.
The bombarding particle is -

(A) neutron (B) proton

(C) alpha particle - (D) deuteron

7 ILi @l R s & et & Il @, & e v S B ZHTH T B § —
(A) =ge (B) W

(C) T B , (D) sggta

In the half wave rectifier circuit operating from 50 Hz main frequency, the fundamental
frequency in the ripple would be -

T S AT Py 50 Ha TS IR T A 5T e #, vk R A AW g enl

(A) 25 Hz (B) 70.7 Hz
© 100 gy (D) 50 Hz
19 At absoly intrinsic germanium and intrinsic silicon are -
te t erature, 1ntrinsic
(A) Ideal é;;%uggf (B) Good Semiconductor
C) Ideal Insulator ' (D)u Conductors
T 3t I ¥
T a9 T & . a
(A) Imst e B) o srdere®
©) oesh sreme ®) e
W The logic gate repr‘eselltﬂd in the fillowmg figure js -
T fomr & wifore e W
% : e
B
(A) OR Gate (ire) E‘[?) gg; Gate (i12)
(©) NAND Gate (2) : Gate (1)
LAl4s]
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22

23

24

I

(C) less than that of B Eg) equal to tha;;fﬂ
& & A9 B - ice that o
?jzjﬁm?m;ATgmﬁ%am%g“;“t'ﬁ%mWW
0 ot § T 3 7 5o v T W Py e B 4
(A) B & sl s
© Bd #w B) B ¥ wwET
-f\l-48] G (D) BEhTS"'T:"

dles near the outer 'ﬁ'dges‘fa.r away from the hinges :
The doors are provided with hanc’=> . door 10 OPen it easily,

(A) to exert maximum torque Of door to Open it easily,
(B) to exert minimum torque on the

L i & (o ot handc ;o fingers are¢ not hurt by hinges.
(D)  because while opening the door !l g

T ¥ ¥y wrard 3 wort @ AHF Q0 K TEU R 0 o W # -

(A) T # o @ @ § O A I omgl e % fong |

B) T %t ot § it i T T I T % forg

©) i ¥ew oy Rufy & 1 w6 T8 BN ¢ | TEG BT 3 Few @ amEE B
T

(D) Fit weamen wied @ el WA & B @ T G |

Consider a two particle system with particles having masses 1 and m,. If the first particle
is pushed towards the centre of mass through a distance d, by what distance should the
second particle be moved, to keep the centre of mass at the same position ?

m2

A) d (B) TnT
m =

d 1

© my + my (D) '”72"

A circular disc of radius 0.5 m an ; o : <o}

of 120 revolution/min. The mnmeﬂtn;?csisnzfti:goi.s tiztg;:fi:b?ut 1 own axis with a peed s
(A) 1.550 kg m? (B) '3.125 kg m?

o S (D) 6250 kg m? '
“Wmmﬁ“‘f“ﬁ%w T 25 BRI & SN g8 T 120 gy /fire
& TR @ g0 &3 & T B ey e

(A) 1.550 fr 42 : (;’)“i"f fi

(©) 4.125 Py @2 - 2;3 e

» Which are initially at the Same temperatyre and

me ¥ to VZ' A is compressed isothermally, while B is

Pressure of 4 i -

Two samples 4 and B of a Ccertajp, 2as

pressure, are compressed from voly

compressed adiabatically. The fing
(A) more than that of B

not matter and s convenient to fix at the outer edge,

6

26 A

29

©)
ki
(A)
©)

pote

(A)
(©)

A ch
0.75
- (A)
(©)
Uh §
2 H=
(A)
(€)
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When 20 J of work i'a--.‘l

(A) -150J
(© 9%J

An ideal heat engine

Joule of heat at higher

(A) 2000 J

(C) 8000 J

T AR T g9
T 104 @S 3
(A) 2000 S

(C) 8000 S

The efficiencies of

(A) are same.

(C) depend on pre
3 GHE 9™ & 9

(A) TRET BN &L

A child is sitting
075 mand 2 m
(A) 10 mls

(C) 8 mls _
2 de ¥ | Eadl
(A) 10 &8

(C) 8 =LA

LAl-481 O

40 J of heat energy 18 released. If the initial internal
] - = :
the final internal energy !

1% ﬁmo;mﬁﬁﬂﬁfﬂ@?ﬁ% | af i A e
i - ﬁ%‘—r

B oot oyl between 227°C and 1BTRC, It absorbs 10*

ire. The amount of heat COI’WGHEd to work is -
(B) 4000
(D) 5600

| 227°C ait 127°C ¥ &g Frafed g @ | = a T

| 2w o ¥ drafd g -
(B) 4000 S
(D) 5600 T

g heat engines working between the same temperature -

(B) depend on fuel used.
(D) depend on volume.

T gl SepHu TN SoT i GG —

(B) ugﬂéuﬂqtﬁﬁtmf?r%i
(@) e Tt Pl 2

hich value of displacement, kinetic energy is equal to
de) ?

« P Tt @ Rt S GAE oA & (a o ¥) 7

(B) r=t<
2

(D) x:+a_

.milnimum and maximum heights from the ground are
s maximum speed will be -

(B) S mis
(D) 15 mls

et T ¥ P o e S FE: 075 ey o

(B) s @A
(D) 15 H /4.

7
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32

5 kg S

00000000 % :_3
j .
Collar

AS kg collar is attached to a spring of force constant 500 N1, 13 slides without friction
on a horizontal rod as shown in the figure. The CO_llar is displaced from it équiljh i
Position by 10.0 cm and released. The period of oscillation of the collar is - b

5 kg

W 7 S
7
Collar

qas5f‘qm¢rngr(cona:)qmﬁ;mmzmﬁ&iﬂﬁ'ﬂaiaismmm-!%,ﬁvﬂam% | 9% T

Wﬁ%ﬁwmw%ﬂm&w?ﬂﬁrm%ﬁmﬁﬂﬁam : % wghi
¥ 10.0 ¥ Faenies ot wter o ¥ 1 M 1 Qe e & T

(A) 628 s ;e
B) 628s
€ E -

The right relationshi W e ' .v2. - d absolute tem ture
p between th : : ( pera
( . : fquare of speed of sound (v#) an solute ture

i‘l‘fﬁuwﬁ'Eﬂﬁrﬂ?fﬂm%aﬁ(ﬂ)wﬁq%q-{mm%qwaﬁmﬁﬂm%*. 1

A) 42 \ :
B) 2 i
) 4
T
@) k e
@) “2fE
i s
7

Velocity of source of soupq W

double the original frequency (szn to g stationary observer the frequency appears to be

Wmﬁﬂﬁﬂaﬂmqﬁﬁw 1Y of sound = 330 ms~1) is -
330 ms!) & - ﬁﬁﬁmﬁﬁ-mﬁrwwﬁ, (eafy &1 T =
(A) 330 ms! _
(C) —330 ms! (B) 165 ms-l
(D) -165 ms™

33 In two identical tubes 4 ang p

. s tuh ¥
The ratio of fundamental freqy, €4 hag both ends open, while tube B has one end closed.

. 1iEne
ﬁWﬂWAﬂBﬁ,ﬁAYOf!ubesAandgis(A=B)'

9 B @l sgfaar ar : . )
@ 1:2 %(A:&MgﬁgaﬁﬂwwmwtrmA
€) 2% (B;

40

41

42

43

45




Veer Satsai, Balvadvilag an,

d Ramraniq itten by :
t were WI1
((3 ?}};ﬁm;d“k i B suyamal Mistan
1 danka A .
5 L G;;raCha-nd Ojha ([?) . Jagdish Singh Gehlot
iction A) 3 % NEd ¢
brium ﬁﬁ” e @) gdue e
(©) T Y S (D) s RfE e
35 The site of Bagore is situated on the bank of river in district Bhilwara.
(A) Luni . (B) Banas
i anﬂr*ﬂm_%rﬁaﬁ______aaa;mwﬁw%l
T (A) ol (B) &
(©) wrerl (D) ==
36 Which Chauhan ruler got the Suhaveshvar Shiv Temple built in Menal ?
(A) Vigrahraj IV (B) Apargangeya
s (C) Prithviraj IT (D) Vigrahraj Il
W ¥ geavay Rra wiex @1 i few dem sraw 3 e ar?
M- (A) fomeTst IV : (B) 9T
(©) guERe 11 (D) few
37 Which one of the following is @ source of information about the history of Pratiharas of
Mandor ? '
(A)  Sambholi inscription Egg Ghatiyala inscription
(©) Bijapur inscription : Arthuna inscription
Frefafea § 4 aigar woer & et & SRE 9 ety e #?
(&) T e ®) T afidr
(©) oyt srfera (D) S arfirera
510 be 38 Which one of the following ru-ch_.S'did not establish Matrimonial alliance with Akbar ?
2 (A) Bharmal of Amer (B)  Rawal Har Rai of Jaisalmer
T T = © "5 Smj;’n e Rmmargb;;&m@) Rao Kalyanmal of Bikaner
Bt & 3 g e 3 0P e Y Wiy ey fd 7
(A) emiT % wreaw (E) T % et A
(© T 3 < G T ) Wi 3 7 e
closed.

:s known as ;

is

39 The first floor of Hawamab?! B)  Prakagp, i
Rt A (A) Ratan mandir (D) p o ol

(©) Hawa mandir a # %7 i,
FAMET ) qee diAw B B) gy vifar
(A) T R D) v e

©) = osfy

PT.O.
LA1-48 ] (@)
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41

42

43

44

; id the
In which of the following years dld,l y T 2
GTQ?MA & wifer < e f ﬁﬁ?g) 1893 e
© iss6 @ 18

= )
Begu Peasant Movement was led by Whom

& s ; (B)  Vijay Singh Pathik
© Mo g " () Hanl Bl mingy
T o et A dger R T ! _

(A) W S el B) e e v

©) e ve (D) & 9% T
Who started the Bhagat Movement ?

(A) Rajasthan Sewa Sangh (B) Bhogilal Pandya

(C) Bhurelal Baya

W SiRIe e & wrow fea w7
(A) e a1 gy (B)
(©) et T (D)

Which state of the Matsya Union was
mandate of the Public 9

(A) Bharatpur B) Kamuli

(C) Dholpur ED; Alwa.l:'
qa?mwa?fq~mmm%a§qaa; T 97 It Wasr o A feiietor & firg dar
g7 ¢ h

(A) &g
(©) dgx

Kali Bai, who was killed in
belonged to which district ?
(A) Udaipur

(C) Banswara

HE 1947 T FI G 3oy ey
= fo Bt A A 7 B
(A) w"agY

(C) wiEarsT (B)

(D) gt
The first woman of Rajasthap, wi o :
was ? 10 wag arrested durin g the freedom movement in Rajasthan
(A) Nagendra Bala :
(C) Rafan Shastri (B) Anjana Devi Chaudhary
USRI # @esal A& % e ¢ (D) Rama Devi Pandey

(D) Guru Govind Giri

s grear
To e firdy

ready for its merger with Uttar Pradesh based on the

(B) @il
(D) T

May 1947 by the police while attempting to free her teacher.
(B)  Dungarpur

(D) Jaisalm
gﬁ%ﬁa%sa;;gmaﬁvﬁﬁzﬁmwﬁﬁ

(A) +irg & TN areqy et @1 geel! At B 4
(C) g7 gme (B) o Y =rert
[-"\1-48] G (D) Tqﬁiﬁmu%

It [ P.T.O.

Royal Commission on Opium visit Rajasthan ?

46

47

48

49

50

51

LAl48) O

Match the

(a) Jasna
(b) Sheet
(d) Jeen |

8 g9 T
(a) ST
(b) g
(c) ﬁTﬂhﬁ
(@ o=

(A) a4
(C) a2 t

In which are
(A) Nathdy
(C) Bundi
T & @
(A) FTUETT

©) 9@

‘Which khaya
ago ?

(A) Khayal
(C) Turra-K
Ha 9T qmEaR
(A) @ T
(C) g we

Which one of
(A) Eklingji
(C) Dilwara
=1 & & o
(A) Ul
(C) TeEreT o

Who was the (
(A) Harvilas ¢
(C) Haribhau
TRYT & arerm
(A) wXfaemE §
(©) #ftsrs av
Who amongst tt
(A) Ali Baig
(C) Jaidayal
e & & @
(A)  &reft g
(©) v




n the

acher,

{ T,

jasthan

e

46 Match the correct pair :

(a) Jasnathji ;
(b) Sheetla Mata (1) Revasa (Sika)
3 (2) Chaksu (Jaipur)
(c) Jambhoji G) Muka;m (Nokha
(d) Jeen Mata 7 ‘Laner)
St PN (4) Katariasar (Biks
(a) e 1) Xarer @0
(b) GRS ) m(ﬂﬂg{)
(c) IS (3) T (A
(d) T T (4) waEt (@
(A) a4 b2 c3 d-1 (B) al b2 ¢3 d-4
(C) a2 bl c4 d3 (D) a3 b4 cl d2
47 In which area of Rajasthan is Gulabi Gangaur celebrated on Chaitra Shukla 5 7
(A) Nathdwara (B) Udaipur
(C) Bundi (D) Jodhpur
TR B B Y 8§ AT a5 @Y [ T A S ©
(A) SrET (B) BT
© ¥ (D) wuge
48  Which khayal was composed by Sant Peer Shah Ali and Tukangeer in Mewar 400 years
ago ? :
(A) Khayal Bharmali (B) Chand Neelgiri
(C) Turra-Kalangi Khayal (D) Meera Mangal
T O gmeardr S gt 7 400 W T fare  fw waw @ T @l ¢
(A) & AT (B) =i® i
(©) U weh @ ' (D) drr g
49 Which one of the following temples of Rajasthan is rightly matched ?
(A) Eklingji Temple - Mount Abu (B)  Surya Temple - Udaipur

(C) Dilwara Temple - Osian : (D) Karni Mata Temple - Deshnoke
B ¥ & iy ue e @ A T g &7
(A) Tmhimeh wher — 87 (B) W Afey — sTAYX

(©) warer wfay — el (D) FTfy sy Ay — D
S0 Who was the Chief Minister of Ajmer at the time of jtg merger in Rajasthan 2
(A) Harvilas Sharda (B)  Balkrishan Kaul
(C) Haribhau Upadhyay LD Heeralal Shastri
TR ¥ oropiy % R B T3 T8 A JEEE 2 a7 p
(A) wefawmE g (B)  arrgwn av
(C) wftars sura™ (D) Frremer ot
S1. Who amongst the following »& %€ ¥ thegleadem of the Revolt of 1857 in Kota 2
(A) Ali Baig ED)) I;ii;salllal Singh
(C) Jaidayal f ' al
P & & i e & 1357%5%%%%@??
(A) ot 91 DI fye
(©) e ®) Erere

11

LAl-48) 9) [ PTq




by the name of Dharadhargarh ?

! ' 59 Which one
\ 52 Which fort in Rajasthan is 804%™~ (B) Gagron fort ? (A) Came
i (A) Bhatner fort (D) Choumuhagarh (C) Came
]. | (C) Ranthambore fort 3 7 8 1 W W & ? tine R
TS % 5y g @l Graane (B) AV & iy e
| (A) 92T &7 e (D) (4)
(C) T Bt fipe : (C) *HeH
53 Where is Chand Bawadi situated ? (B) Sikar
(C) Abhaneri A) Third I
Tt T wEr fum §7 J @) I
(A) amR (B) el
© s () firearet [ a; »
54 Which saint of Rajasthan and disciple of Ramanand renounced his state and joined his Guru (A) : tﬁ
Mandali ? © wigdl
Eég };)]"lanl'.lfiji (B) Jambhoji ]
cepajl (D) Raidas IS O o
Tt T ST ot T & e o o @) e o e § whe gy 7 g (i[;mgﬁ?j
( g1 B) wmeq
(C) dmr S ED; e i (C) Dungarg
55 The 'Than' of folk god Gogajiis g ; SOl |87
(A) Khejri y O(lén) ul_?dera;v c ! (A) & H
(C) Bargad eep (C) THYT 4
R T B A W e o L), Neem ‘
e i 2 e o §7 ,
S6  For contribution to which Handicraﬂh D) St o : i (C) Choudhar
award ? 3 Kudrat Singh been bestowed with the Padamshri 2
(A) Textile Printing i Smg i ¥ %
(C) Moradabadi work on By, (B) Meenakari Art (&) HIET R
Fa e ® 57 T i (D) Blye Pottery (O orerd g
(A) B9 @ B q‘““%%qm@,gwmw%? i =
(©) de 9T qTEEEy Hm B)  wHrreprar e 63  Which f tl
57 I\r‘h_;ha}mmad Shah and Sapj}, Ram (D) ﬁtﬁzﬁ (A) No?; (:;9
Painting ? Were f, : ich School of Rajasthan e
(A)  Jaipur AMoys painters of whic J (C) N.H. 59
(C) Alwar . I
e S ST WA fag Eg} 8““511 (A) @ am, 8¢
(A) wER Resregen daighl R & 7 ©
(©) orwe o ﬁg ¥ i - : . T, 59
58 T itions of Dady - :
s gpriions of Dy, @) b R Y
(C) Mewari Ples are mostly found in which dialect/language (A) Feldspar
g v IWe Rl &) s (B) p i (C) Cop
(A) Fardt i iy %(DJ M];:\I:Salr?r ] p;r@r fa
2 : ? '
(©) e WYY N g vl ¥ iy
(B) ey G &
LA148] G (0) et (C) iy
Lalgs) o5




(v
(st
& B) Red Algac

(A)
Accordi ST, ey ( (D} Brown Algae
ording to K v 7
FA TfET oppenn's classificat (R
(A ?5 T 1cation, whig i (B»Zl, ar e
(C) BWhw ;m S
_— 8 3
(A) Barmer ¢ following districts of Rajaf;f: - (B Caryopsis
(C) Jaisalmer ol
T o frAfafaa o Ui A y
¥ & P f A (B) dRif

(A) 3 4 % = X

f the following type of soil b :,:1 ¢ =
|s and Entisols f / (Ej‘cm Mobius

(©) [nceptisols
et &3 T i 410
(B W Afe

i fram

i ol e RevieY! 201743"& afi
1 evl S b
2 con mic -

81
for Nation o 18 W
O s e 20 D Do
(A) 2% kﬂ"ﬁﬁi“}) ?;;:z
(C) 24 ., pver is alsO lfp” e
g2 Which © gy 4 (B;mm is called as -



mshri

wh.iCh _ODE of the o
(A)  Camelys drom
(C) Camelys de
TSI Sz oy
(A) Ferg

©) o wftgy

ll Al .

ederiy, e hiﬁlogica! name of Rajasthant! calmel i
sertj .,ug (B) Camelus bacterius
'&grﬁu; A (D) Camelus europa -

Growth with stability

and self relj . ohiective of which plan ?
(A) Third Five Ye teliance was the objecti

ar Plan

(C) Fifth Five Year Plan (B) Fourth Five Year Plan
Rereet 3 e R o s
(A) T T G
(C) wigd Juadiy demr

(D) Sixth Five Year Plan
fp e @1 aed °T e

®) =g ToadiE G

(D) w3 Gaaur Fe

'Som-Kamla-Amba' it;:igaticin_:prqjtct is situated in :

(A) Bundi I (B) Kota

(C) Dungarpur : (D) Banswara
A) & X E (B) @@ ¥

( : = ¢ (D) drgarET
(€) NI .

. 2 ~11T W I h C 1 i .
‘? i f ] win 18 50]]1'0!3 Df ater f(] Ha]'lumaﬂgal‘ ﬂn(l }l]llll (llSI[]{:tS }

3 : (B) Guru Jambheshwar lift Canal
(A) Kanwarsen lift Cﬂ}?;lamhﬂ Canal (D) Pokaran lift canal

(C) Choudhary Kumb g g fet % QST 61 E § 7
Pyefafaa ¥ A B &G GO B) o wHyeY fawe T

(D) " fawe A8

. National highways links Ajmer to Bikaner in Rajasthan ?
Which one of the following === (B) N.H. 79

D) N. H. 69
(A) N.H. 89 (D)

59 AT T TR ¥ ST B ST § e ¥ 7
O H*{T&,{"mﬂﬁwﬁﬁﬁ' (B) . wH. 79

(D) . Ta. 69
(e TR

- 55 , ‘
(@) B = . ral production, Rajasthan is number one in India ?
sollowing ™ (B) Lignite

[n which of 1° (D) Iron

Reldoprt  gar X T F T ¥ qpen e § 7
P g W ®) frm
A -
13




i ; A ¢ cent share under reserved category.to the total record i
65 l\%-::;h one D?t;e tol?wl"‘g 13,?11;1; o State of Forest Report 2017 2 i i
area of Rajasthan acc : ; ) i
e Ezmﬁﬁﬂmﬁn;?wﬁwﬂquMWﬁwﬁﬁﬁ@ﬁmﬂ
W R gt sl aoh % 0 I € |
(A) 38.11 (BERo |
(©) 625 (D)t 8 ‘
; ; . J
66  Shergarh wildlife area is situated in which of the following districts ? !
(A) Baran (B) Udaipur ﬁ
(C) Jaipur (D) Bikaner
ITTe T Wy & Preffe § @ e e F Raa &2 i
(A) s (B) wYX
(C) g (D) d&rR
67  The plant known as the 'Green Gold' of the tribes is :
(A) Salar B
(C) Bamboo ED; gh;:kcla
e . ular
anfeatiat & ‘g% 9 %mﬁwmw qk
(A) T b
(©) st (B) Eﬂw
(D) IR
68  Ozone day is celebrated on :
(A) 16" September
(C) 16" January (B) 16th December ﬂ
e fea® wwman wmar & - (D) 16th June
(A) 16 faa=T &
(C) 16 SHalr (B) 16 RE=T B !
D) 16 o @t |
69 Which one of the following i . IJ
Eg Et:gw 4500 of Blue Baby syndrome 2 |
. (B)  Mercury |
i*l'zt. fofad 5 § BA-| U ‘ﬁa?r (D) S roon .'[
o '3 e
©) ®) g
70 What is the percentage of g (D) wer
(A) Area 50%, Populag inq ;
(C) Area 70%, Pﬂl]::lzz:z:: SOD/a populatlon of Rajﬂsﬂlaﬂ affected by Thar desert ?
T H AT TG Y gy (B)  Area 61%, Population 40%
" O Tty D) 0%, Population 70%
(A) & S0%, Trefreyy < eﬁqm ( _ Area 7070, TOP
(C) &= 70%, Sy 63:/“ T ST g St feeer %7
% (B)  gsroet 61%, STTHEAT 40%
LAlI-48]1 O D) Agwa 70%, TG 70%

14

71

72

73

74

75

76

Extensio
(A) Hir
(B) Ko
(C) Hir
(D) Kot
Tirs
A g
(B) I
©) f&g
(D) @M

The longit
(A) 69°3
(C) 69°3
ST <hl
(A) 69°3(
(C) 69°3(

What is hei
(A) 1722
(C) 1380
U yda 9@
(A) 1722°
(C) 13807

Which one «
hills ?

(A) Sikar
(C) Jalore
TSTEyT o
(A) et
(©) st
"Phulwari ki ?
(A) Udaipur
(C) Kota

Which one of
(A)  Ghaggar
(C) Nagpani -

Fr=tifea & @ -
(A) HEY - 3
©) ARy —
LAl.48] O




1! Extension of Radcliffe j
n Rajasthan i
is from :

ordeqd
(A) Hindumal Kot (Ganganagar) il (Bamlel‘)
o asar

C (B) Konagaon (Gangan
(©) Hindumal Kot (3(3&“&2;) to Shahgarh (Jalore)
(D) Konagaon (Ganganaga:;lgtzr)];o Shahgarh (Jalore)
’{Eﬁwﬁ%@mwwﬂfﬁwn?awaamer)
(&) fogre@ie (TIm) ¥ ameme .(mah) aw
(B) WA (FIATR) J e (aTetre) @@
©) W,(W) ¥ T (R @
(D) ®umtE (FIAR) ¥ qEm (@) @
72 The longitudinal extension of Rajasthan is :
(A) 69°30'E to 78°17'E e 1S('E.) 69°30'E to 78°17' W
(C) 69 ;? ;:" n::'( 78°1T. E% (D) 69°30'W to 78°17' W
(A) 69°30' q&t & 78°17 QA (B) 69°30' q&T | 78°17 afyerdt
(€) 69°30 wiedl & 78°17' T (D) 69°30' afyerdt & 78°17 et
73 What is height of Peak 'Ser' ?
(A) 1722 meter (B) 1597 meter
('g_)( ' :;:O iﬁrr;t% : " (D) 1496 meter
Fas ;e
(a) 1722 9= (B) 1597 #rX
(C) 1380 HreX (D) . 1496 HreX
i ﬁﬁicg one of the following districts of Rajasthan is not having the exten
S
(&) Sikar (B)  Jhunjhunu
(€) Jalore (I?j Alwar
mﬁqﬁﬁﬁﬁﬁﬁﬁﬁ%;}mqmﬁﬁ%ﬂiﬁ%?
75 'Phulwari ki Naal' is located at :
(A) Udaipur (B)  Rajsamand
(€) Kota (D) Bundi
‘Gl @ A fEd € - ‘
(A) wegwe A (B) Trwemz
© @ S
deseet ¢ i Which one of the following js not correctly matched ?
. (A) Ghaggar — Dead rivef (B)  Bhorat — Plateau
(C) Nagpani — Arawalli P23 (D) Ser — Arawalli peak
e S e 2 et R Y B
(A) THT - ga 74 B) WE - wr
(© e — sroEd &9 (D) I — srraeh @
[ PT.O. LA148] O 18

sion of Arawalli

[PT.O,



77T Which one of the following is not correctly matChEdl ¢
Eg; Alwar — Sabi, Ruparel EIE;; gdalpur — Banas, Berach
Karauli — Jagar, Gambhiri tungarpur — Banganga, Morel
i & & i gy w@ g T E 7
(A) e — gy, v (B) SWX - 7w, Jew
(©) =0 — sy, Tk (D) Y - aqpnm, Hitw
78 According to Ko ' ification, which of the i istri
ppenn's classification, which of the following stands for Dungarpur district ?
mmﬁmwﬁwﬁfﬁiﬂﬁ%ﬁ?—mwm%fm%?
() “Aw (B) BShw
~ (©) BWhw (D) Cwg
79 i - s . i
\ihlch one _ol" the following districts of Rajasthan hf:lS maximum annual rainfall variability ?
{C} Bzfljrncr (B) Jaipur
(©) Jal:;lmer ; : (D) Banswara
(‘:}W'“ Frfefad 3 § g B ¥ arife oot & ofeas frswar ay ST E 2
(©) e o
(D) wigeTET
80  Which one of the followi R . 4!
(A) Addosal o Emisgi type of soil is found in the maximum part of Rajasthan ?
(C) ncsptisols (B) Aridosols and Alfisols
T % waiw & 1t N4 (:;; Vertisols and Alfisols
; Freffrg IR 11 1
(A) uhEme vd uftegimy : .
(D) =dred e Srehre
81  According to Economic Review 2017-18 el
for National Horticulture Missiog, i, the total number of districts of Rajasthan selected
o e 2017-18 & sy .
Sy TR & efyg e fsA & fC wafr R o
{A) 22
©) 24 B) 23
] ke dec (D) 25
82 Which of the following river g al
(A) Banas %0 known as ‘Kamdhenu river' ?
(C) Kothari (B) Chambal
Prefafag & @ ®9-91 99 “Hri (D) Banganga
(A) «TE T prwmh 27
(€) @l (B) a=w
83 Which one of the following gigyg, (D) Frpim
(A) Io thur 18 the largest producer of sugarcane in Rajasthan 7
(©) Bund;%ﬁﬁ- g (B) Ganganagar
f=fafaa [ 91 ug (D) Sirohi
(A) eyt T 1y gy g ¥ T 7
() % (B) et
(D) vy
LA148] O

g4 Red rust of tea is c:
(A) Green Algae
(C) Fungi
T @1 W e
(A) T &

(C) 9%

85 The fruit of Sorghum
(A) Cypsela

(C) Achene

THIT & WA B BE ¢
(A) frsen

(©) wBH

The term biocoenosis
(A) Tansley

(€©) Warming

g1 qrafgE e 3
(A) =

(C) arffr

87 Gibberellin was isolated
(A) Algae

(C) Bacteria

el &) gus e 7
(A) a4

(©) shamy &

S The instrument used to M
(A)  Alburnum

(C) Tyloses

SuHT frges gra 95 ¢ O
(A) THamw

©) e

LAl g 1 O



o Red rust of tea is caused by

S " (B) Red Algae
(C) Fungl o -
e & T 6E U R w7
(A) B '(B) et
i The fruit of Sorghum is known as -
| (A) Cypsela ' (B) Caryopsis
? (C) AChE‘.‘-ﬂB (D) Legume
R % T b Hed € -
(A) R (B) wrafad
© T o (D)

% The term biocoenosis was coined by -

(A) Tansley (B) - Carl Mobius

(C) Warming . (D) R.Mishra
= S e SR fepan
(A) T|A (B) & AieEH
= © it ©) o o
0
Y Gibberellin was isolated from - e
(A) Algae gus
(C) Bacteria (@) Brivgtstc
e ® gus (6 T - A _
() e & |
© g @ O Mg
W o _qsure diameter OF & BSCHRAL 5 called as -
| The instrument used 10 ™ (B) Dur
an ? (A) Alburnum : ) Dende gmm _
((;) T]_r'.lnses- oy 3 @ B el ISl t.m ¥ _
g e BT S .

(&) s (D) ¥F=rm
17 '






% Who coined the term tot

(A) Morgan 'Potency 9
(C) Darwin

R T B e

(A) HRH AR
(C) =

96 Tap roots are commonly found in -
(A) Angiosperm

(C) Monocots

FIETEE 6@ 6 I W & —
(A) S
(C) TR

97 Storage product of Rhodophyceae is -
(A) Starch

(C) Floridean starch

TR & afad SR § -

(A) =™

() wfifEns =™

%8 Palmella stage is presentin -
(A) Chlamydomonas

(Cy Aspergillus

ot areeT T A €
(A) FRrEEEEATT

(C) umiEs

% Edible part of apple
(A) Thalamus
(Cy Mesocarp
Hg 9 g B @t

(A) gsqre
(€) wuwwtHid

mﬂaﬂnﬁ.ww-

&...A%.a.l

..ho_._twaw_cb on
5. Africa

o

| W Firgt "arth Summit” B

(A) IJohannesburg Gy
1992

- T g

(B) Schwannt
(D) Haberlandt
B) @A

(D) ¥

(B) Gymnosperm
(D) Dicots
(D) b

(B) Glycogen
(D) Cellulose

(B) TEEEHSE
(D) Fegei

(B) Spirogyra
(D) Riccia

a_v_za@aa
(D) Tl

(B)  Epicarp
(D) Endocarp

(B)  ararsmiwfy
(D) &F: Ty

mmo_.emwn.m”— gdﬁmq_.. was held at -
(B)  Rio de Janeiro (1992), Brazil
) New York (2000), USA

g W o W o o

(B) P (1992), FAIST
M) =@ (2000), g.78.9.
19
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W

wi Li
grect in relation with hormones released by human placenty9 | 106 Match
101 Which of the following is ¢

102

103

104

105

LAl48] O

(A) Estrogen and Androgen
(B)  Placental Gonadotropin,
(C) HCG, HPL, Progesterone aﬁr -
% ?gg;ﬁgesteronea;%qﬁmﬁ Aot & 7 g
(A) TENE wE g _ ;

(B) R e, TR T I

©) TaEH, g, foR @ TR

D) TaHH, WA @ e

Estrogen and Androgen
d Estrogen

At the time of conduction of nerve impulse, the repolarization occurs with the -
(A) Influx of K* ions (B) Efflux of Na* ions

(C) Efflux of K* ions (D) Efflux of both Na* and K* jons
Hﬁmmﬁv%&w«r%wyzwaﬁf&mﬁﬁm% =

(A) K* it & ortars (B) Nat ot @ aftfare
© K* st @ wfare (D) Na* @ K* ot &1 afdsars
Select the statement for hum '

s an brain which .
(A) Mid-brain has two optic obes ch is not correct
(B)  Corpus callosum connegts o .
(C) Hypothalamus has hunger cer:’ﬁ:t?rebral hemispheres.
(D) Medulla oblongata controlg im’oium

" AT F Ry gy ary activities.
(A) Wqﬂﬁ'ﬁiﬁﬁﬁmﬁ::? T A d
(B) FTéa BT A i

©) mm_ﬁ{@%hm?m%i
B ﬁ@m%ﬁmﬁw%m%l

The discrimination in the 50
(A) Sacculus Varying intensities is done by which part of human ear ?

(C) Basilar membrane

ferfret (B)  Utriculus

(A) g b ﬁmﬂ?’ﬂ w3 éa'zf) R&SS?:IBI"S membrane
T ST & 2

(C) omurdy war ®) W &ra

Which of the followin D) Iy & Fo0

£ stay,
(A) No change in the Jap,. eNts j

l
en I8 .
(B) No change in the Icngth 2;1 bang ! correct for 4 striated muscle when it contracts ?
(C) A band retains itg len Myog:
(D) Sarcomere become gth, S0 bang,

Sghone
e 5l & WY, T g qoner
(A) lwﬁaﬁmﬂm

B
(B) W@ﬁwm%%mﬁﬁﬁwmm% ?
(©) A uzd @ wward

By ST |
(D) maﬁﬁmzﬂzrs};j,“‘ht PR T8 g |

answer :

List
(a) Pori
(b) Platy
() Nem
(d) Chor

et & A

-1
(a) U
(b) werRfe
(c) ﬁﬁ'é%ﬁ
(d) B

(A) (a) (@iv),
B) (a) (iii);
© (@) (ii); (
D) (@ @), (i

107 Which enzyme
(A) Trypsin
(C) Pepsin
P T g
(A) fefigs
(C) afgT

108 Which of the foll
(A) Spleen - Bil
(B) Sinu Atral N
(C) Tricuspid va
(D) Thebesian va

qqar

(A)  <frer - ferct
(B) fRy snfer 7

(©)  freadf @ -

D)  dfiygs aI

L“"1~48] G



. relation with hormones released by human placent,
in
e cortect
101 Which of the following 1§ -
(A) Estrogen and Androgf‘:: Estroge? gen
(B) Placental GoIlado'ﬂ'?tfr‘ﬂ;le and Esltll'o
(C) HCG, HPL, Proges drogen , )
(D) HCG, Progesterone a;ﬂ:; g ¥ fra § wTEd ¥
HHET 39 ara Iilﬂilitlfl
(A) TR T Qe @ TS
(B) wew TR, T
(C) wa.drsh., TEdg., d_'é'@“
(D) TgE., deea W@ Qg

102 At the time of conduction of nerve m
(A) Influx of K* ions

Androgen

pulse, the repolarization occurs with the -
(B) Efflux of Na* ions

(C) Efflux of K* i (D) Efflux of both Na* and K* ions
ux o 10ns : ﬁ’ﬁ?ﬂ%_

ST oM % S % T YA A SR _

(A) K* et &1 s (B) Na* maei &1 afgsiam

(C) K* 3mgai @1 sfedas (D) Na* Td K* ot &1 sfedare

103 Select the statement for human brain which is not correct :
(A) Mid-brain has two optic lobes.
(B) Corpus callosum connects two cerebral hemispheres.
(C) Hypothalamus has hunger centre,
(D) Medulla oblongata controls inyolup activities.
Wnﬁaw%mmmﬁwﬁm,m;ﬁywqﬁ% :
(A) w7 AftT=s ¥ 2 g9 i TuRere
(B) Wmﬁmwﬁm% |
(©) TN F E ¥ ¥y 3y ¥ .
D [ . '
s TS Bl a1 P et & |
104 The discrimination in the

soung . _
(A) Sacculus . Varying Intensities is done by which part of human ear?
(C) Basilar membrane

~ ®) Utricul
R e @ e o g e s

(D) Ressiner's membrane

(4) g e s gra fear o & 7
(C) &muTdg &ar (B) J
105 Which of the following st D) W & wew

(A) . No change in the g, Menty ;
(B) No change in th “ngth of |

18 not Correct ) _ 5t
t for a striated muscle when it contrac
(C) A band retaing ie length of bﬂﬂd.
et Al % R, o gy e
3 ety o R et F @ @ W T b 7
©) A TR B g ot oy

(D) Sarcomere beco;feiezgth, ‘n)fosin band.
(A) 19 & was '
(B) wrAfeT wzdy &y N | ;
D) wrihmER Brer 5 %gﬁ Ty gy
LAl48) (3 '

20 rp TO




enty [I)b hdatCh List-] with names

(iv) Cnidocytes
(V? Malpighian tubules

dt % TR T A et
L WAL
@ T () e AR
(b) ErEfeHeT (i) =y
(c) e it (iii) ‘Hﬁ-ﬂé_’\ﬂ
@ @i (iv) seEr
: (v) Aadr Afaed
(vi) AR I

(A) (a) (iv), (ii); (b) (1); (©) (v); (d) (vi)
(B) (a) (iii); (b) (@), (iv); (c) (i) (d) (v)
©) (a) (iD); (b) (i); (c) (ii); (d) (vi)

D) (a) (i), (ii); (b) (v); (c) (iii); (@) (vi)

107 Which enzyme does not digest proteins present in food ?

(A) Trypsin (B)  Chymotrypsin
. (C) Pepsin (D). Lipase
i ﬁqmwwi‘fﬂﬁﬂﬂmﬂw?ﬁm?
(A) fafe (B) wEHfRET
(C) X (D) Y
I8 Which of the following is not the matching set 2
(A) Spleen - Billroth chords
s ¥ (B) Sinu Atral Node - Paczlmj:lfe
(C) Tricuspid valve - Mitfé .
(D) Tgegels);an valve - In right ;tn?um B S Rl
P & @ @ gaRE 1o ¢ ;
A) wer — Ry TI
(B) Rt anfwg TS -~ "RW'[ ' |
(D) e waE — T
21
p.T.0- L*”‘*1-48] o

_A

TR 2 of Phylup, with List-I[ with structir®> and select the correct
List-1 _

(a) Porifera _ List-11

(b) Platyhelminthes (l) Flame cells

(¢) Nemathelmintheg (“) Choanocytes

(d) Chordata (i) Phasmids

W W




109

110

111

112

® N
LAL48] G ) FermEy, UeiRIeY, Tmes

1l cell 18 -

o anl ?
The most abundant ;NI;I: ol ‘ﬁﬁﬂ s (B) r-RNA-
Tt Bifirer F @
-RNA
(A) t-RNA ®) MmN

(©) mi-RNA

.1 phenotypicC ratio wag -
ipybrid P ) _
In Mendel's experimens, thegolunda yellow) : 3 (Wrinkled, Yellow) : 1 (Wrinkleq !
(A) 9 (Round, Green): 33 ok Green) : 3 (Wrinkled, Yellow) : | (Wrinkleg, Gregy
(B) 9 (Round, Yellow): d, Green) : 3 (Round, Yellow) : 1 (Wrinkleg, Gree

. O3 (e :
G I S
rinkled, :

A & i fagr wewed A AT |

() 9$ﬁ):3(m,w):3(w’ ) : 1 (@lw, =)
B) 9w, & : 3 (dw, 7) : 3 (g, d) ¢ 1 (Gar, =)
(© 9 (gliere, Ay : 3 (e, &) : 3 (e, ) - 1 (gpffeme, @X)
(D) 9(aﬂrrr.si):s(rna,dﬁ):3(gﬁm, dr) @ 1 (e, &)

=

)
: 1 (Roung, Greey)

Column - | Column - 1.
(A) Edward's Syndrome  _ Trisomy 18
(B) Pataus Syndrome M 1
(C) Turner's Syndrome * Triss y
(D) Klinefelters Syngry,, my 21

. - XXy
W—Iﬁﬁﬁm@q?ﬂ e !
T -E“"“W%&eﬁa@qﬁammwwmwmﬂ

T/ -]

(A) wewy Ry .

(B) s Ry " SRR g

©) =R ey TRy 13

(D) FMETHET gy " STERg 5,

The animals of which Bt XXY

(A)  Whale, Pigeon, g, P ar h°meoth u

(C) Whale, Alligatoy, 1, * Crmigc 9

Fret % g | g Seon (B) Crocodile, Alligator, Bat

(A) 2, By, T g g ?(D) Hippocampus, Bat, Alligator
(C) =&w, Qah?l?(, % ' :

D) fedrerg, Tomee, Teiiret

0
2 p



Androgens are secreted by

3
(A) Sertoli cells

|

©) Tunica propria ®)

GBI B WA B ¥ ®)

(A) G Eifdreend

©) i At i
(D)

T Bacterial diseases in man are .

(A) Tj_!phoid,.Plague, malaria (B)

% glphtherla, ;g:u;l_(_}hnia, influenza )

( A) m%g, ‘iﬁ‘T, Hﬁﬁm (B)

() fewedifan, gefar, Tamdem (D)

5 Select the correct set of homologous organs -

(D)
mﬁ%@ﬁmwﬁm—

116 Connecting link between ®) Neopili
N : opilina
EC; f;i:;:iifus (D) Nauiilus
v e gd A A s ¥ -
N ®) feifirga
(C) @1EeT "
: i =] ?
17 Munga silk is obtained from which msef:t (B) Antheraea
(A) Philosamia ricini (D) Bombyx m::;mma
(C) Antheraed paphid A 3 7
i R el BIC G @B) T
(A) Rewaitrar aeil (D) SifeFT TR
(C) Qwerdrar A 23
LAl 101 o~ e

lIs
ial cells

Leydig €€
Spcnnatogon

ap B
glmvfrl‘?fa FIRTHT
Typhoid, plague, typhus

Plague, malaria, typhoid

m‘i_sgy ‘a-r[’ ZIEEFH
@, weT, TRHITS

(A) Forelimb of man, wings of birds and flippers of whale
B) Forelimb of man, wings of insects and wings of birds
(C) Forelimb of man, hind legs of horse, ‘wings of birds
Forelimb of man, tail of horse, wings of bat

(A) W%W,qﬁ%ﬁﬁﬂméﬁaﬁm

phylum Annelida and Mollusca is -



e N, P, S follows the grder -

f
izt © 5
ic El
118 The correct order of & el i
T C NP § & T B) N<C<p<cg
s N, F (D) C<N<P<S
(A) N<C<§<P
(C) C<N<S<P :
. peiod indicates the valye of ;
119 In the modern periodic 80 (B) atomic mass
(A) atomic number (D) azimuthal quantum number
: r
(C)  principal quantum nin% afed & ¥ fhul @ w7
YRS S el F A
‘ (B) 9 gemwHi |
(A) trwgaw. e ——
(C) Y& w@ieq g )
120 The element that has highest electron gain enthalpy is -
S e Ry ool aW o -
(A) F (B) CI
(C) o (D) N
121 The electronegativities of the following elements -
H, O, F, S and (I Increase ip the order
ﬁqﬁH’o’F’S@“%ﬁmﬁgamwmm% -
A) H P
(A) H<O<F<s<q B) Cl<H<O<F<S§
©) H<S<0<(Cl<p : :
M) H<S<Cl<O<F
122 The percentage of g ey ; a :
Py ¥ PP =il Zry Ry l-n:;he bitals forming P-P bonds in Py is -
(A) 25 I B wfye & -
(C) 50 (B) 33
| (D) 75
123 Tihe interhalogen Compoy,, q iy . _
W{%ﬁhﬁ tﬂ-ﬁlm Gﬂ' %ﬂ-q’. H_%&S a dimel'ic structure iS -
(A) CIF, #WW%_&F%_
LA1-48 1 O (D) IF,

24
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Rein drops are sphericg)

in
(A) Surface tension .

e because of

(C) Downward motjg, (B) Capillary action |

ot @ % Tﬁfrﬂiﬂr{ \3;% = (D) Acceleration due to gravitationa] force
(A) TS T B ¥, g o & -

(€) T B T Ry (B) HRTHHT

o | |
a=4.24 A. The theoreticy] density of so

dium (At. wt. of Na = 23) is -
W%mwmmmmwﬁwm% | Rores Rt 2t s
=424 A ¥\ Sftw (Na & ooy ¢ = 23) an G =7 &
(A) 1.002 g cm3 (B) 2.002 g em3
(€) 3.002 g cm™3 D) 4.002 g.cm™

Which typ'e of 'defect' has the presence of cations in the interstitial sites ?

(A) Frenkel defect (B) Metal deficiency defect
(C) Schottky defect (D) Vacancy defect
g e o gfe ¥ siewemsh @ § e @ seRafy A ¥ 2

(A) Swa I/ | (B) ®1g =g Ffe/drw

©€) sem FeRw (D) fiferesr ey

135 Coordination number of sodium ibn in sodium chloride crystal is -

mmmﬁ@wwﬁwm%h
@) 3 e

© 6 &1 8

Which of the following conditions is not correct for ideal sojytion ?
(%) No change in volume o1 ™

(B) No change in enthalpy o"

© 1 obeys Raoult's law. q occurs to a small extent

(D) Tonisation of solute 5“"“&1 qaq % fod | g ,

Pt & e R I B A

(A) ﬁr&amﬁﬂmﬂﬂ“:ﬁwaﬁmi

B) b sy o TN g W ¥
(C)_Q'ETIBR%WW Mﬂﬁﬁ{ '

D) frg wr amEETT T 5

! %] G | [P.T.o.
A——
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126

7

hich of the follow;
:0'160“185 7 e Statemengg
(A) They have identicq) are :
®) They have nearly s::ngement of atoms.
) They have same pg ks ele energy.
(D) They have identica] Ondien:mns.

ﬁﬁf@‘lﬁﬂa?ﬁﬂ:ﬁ-ﬁ'@[emaﬁqaw_maﬁa;@ﬁﬁﬁﬂﬁmﬁﬁ_ﬁ%?
(%) T TS B ST vy &

®) T ER D G O o b
(D) TN THE SEEA B ¥ |

Staggered conformation of ethane is -

(A) equally stable as eclipsed conformation.
(B) more stable than eclipsed conformation.
(C) less stable than eclipsed conformation.
(D) impossible to exist.

o % Wl geww ¥ R ¥ wh F g -
(A) ﬁuﬁw%&awwﬁs’lﬂﬁn
(B) WWﬁ.mwﬁﬂﬁ%l

©) e e & W B E

D) arfta ¥ w& ¥ |

Identify the lowest molecular weight alkane containing a quartgrmary carbon -
(a) 2, Z—dimetﬁylpropaﬂe | ((?))) f;r :;:;?ethylbutane

0 2- s | |
%e:y:l;a;wmﬁ o A W Rt g ages w ¥ L
&) 2, 2-TEAfu@Aa ®) 2, 3-sifurep

(D) W=
(C) 2-AfuwegeH

penzene than ethene and ethyne towards addition reaction is -

coea O
Reason for less reactivity ~ (B) cyclic nature

d
(A) presence of 3.“ bo:f > atoms (D) dclo-?alization of €5
©) sp? hybridizﬂ“;“ i A ured B TEN F I0 7 9 e B BICTE
T aaRearAt ' (B) = Wy : 7
(A) 3mn ﬁtﬁﬂwﬂa? (D) TTRN @& RremEH

23

[PT.O,

is NOT CORRECIL regarding resonance structures of
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128 Whi o in biologicel reaction In human pogy o
8  Which pump is import (B) K-Fe pum

(A) Ca-Mg pump (D) Fe-Ca pump
(C) Na-K pump _q7 49 HEEqel ¥ 7

A s 3 e B W O B) K_Féfm
(A) C&-Mg q-q (D) Fe_c i

(C) Na-K 4y . o

129 The vapour density of completely dissociated NH,CI is -
(A) double than that of NHCl h
(B) half than that of NH,CI
(C) same as that of NH,Cl |
(D) determined by the amount of solid 'NH4CI taken
quia: fe@ifs NH,Cl &1 o 99 & — |
(A) NH,Cl &1 g
(B) NH,CI @& 3
(C) NH,Cl & g9

(D) T Tq S NH,Cl i w1 & frafe g

130 Acidity of BF3 can be explained o . : . ] gF _
n the foll 2
(A) Arrhenius concept am basis of which of the following concepts

(B) Lewis concept

(C) Bronsted-Lowry concept

(D) Bronsted-Lowry as we| 85 Lew:

BF; Y Sreliadt Fret & 4 g pre e < OnOPt N,

A st o ﬁl@m%wwaﬂmmm%?
(B) W @umen wy '

131 When some acid is added 4 :
(A) changes with an incre wi_‘ter, the jonic product of water -
(B) changes with a decreag, 0 pH
(C) remains unchangeq ™ PH.
(D) becomes zero.

W W o B FB [y

(A) pH ¥ T8 ¥ dig upy o ™ T o
(B) pHﬁﬁ%mmﬁm%l
(©) ® e oA
(D) 9 & W ¥

LA1-48] O
| 26 [PTO:
RS, W T

BT Irafees oA —
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135

1

Rain drops are spherical in g

(A) Surface tension ape because of - .
(C) Downward motion (B) Capillary action .
aut @ @ TMNATHTT GTIE@‘R{ & s (D) Acccleration due to gravitational force
( (B) FRremred T
A @
- S (D)Waﬁ%wwﬁww

At room icmperature, sodium crystallizes in a body centered cubic lattice with edge length
a=4.24 A . The theoretical density of sodium (At. Wt. of Na = 23) is -
aﬂ%mvﬂﬁ&mﬂmmmmﬁﬁs@ﬂ@ﬂﬁm% | Rras ey @Y wEg

=424 & ¥ REA (Na BT G0 ¥R - 23) @ &aiH T ¥ -

(A) 1.002 g cm3 | (B) 2.002 g cm3
(©) 3.002 g cm™ (D) 4.002 g cm™

-

Which type of 'Jefect’ has the presence of cations in the interstitial sites ?
(A) Frenkel defect (B) Metal deficiency defect

(C) Schottky defect . . (D) Vacancy defect
frg ae @1 g H Waﬁwﬁmaﬁwﬁuﬁrgﬁ;%g
| (B) HIg g Ffe/

A) e T/
(© giea FR/AS D) T g/
Coordination number of sodium-ién in sodium chloride crystal is -
RV Aifead AT ) g e § -

" ®) 4
0

6 H
ditions is not correct for ideal solution ?

Which of the following e mixing.
(A) No change in wliiee ::n mixing.
(B) No change in enth

(C) Tt obeys Raoult’s Ly
pute ShO ° . ey W@ A ¥ 7

(D) ‘Ionisation' of so't of ,
o ¥ 2y iy i RO I g et T T

(4) PP a@ T Mﬁgg _
®) fipg a@ T m@qaﬂ'?f%'
e A e |

0y i @ AR 27 (PTO,
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137 The mole Fraction of No€l ina solution containing | mole o

1 9 NaCl % ]OOOEWW

3 _
(A) 0.0177 D)
€ 05

f NaCl in 1000 g of water ;
fﬁaﬂﬁﬁNaCIzﬁ‘ﬂaﬁq‘;{%* Na

(B) 0.001
0.244

138 According to Raoult's law the relative lowering of vapoyr pressure for a solution is equal

z)k) Moles of solute _ (B) Mole fraction of solvent

(C) Moles of solvent (D) Mole fraction of solute
wﬁza;ﬁmmimTquﬁanimmmaiﬁGmmmﬁaﬁﬁqqaﬂqtng%._
(A) e % 9w ¥ (B) foemaw & wrw frer %

©) fmms & & (D) foera & a9 fir %

139 How many grams of NaOH will be needéd to prepare 250 ml. of 0.1 M solution ?
250 ml 0:1 M famas &M & fifq NaOH & et o & emagarar gy 7
(A) 1g ® 10g
€ 4¢g (D) 6¢

‘ » 140 Addition reaction of hypochlorous acid with propyne gives the product -
::'., (4) 2, 2-Dichloropropanal (B) 1, 1-Dichloropropanone
(©) 1-Chloropropanone ' (D) 1-Chloropropanal
TR W A R B s ¥ T T SR -
(A) 2, 2"% | B) 1, l_gmﬁg}ﬁq
)  1-wRER D) 1

141 Arrange the followin

T faw e dhfirgy

& compounds in decreasing order of acidic strength -

N T T g ot e % @ & @R B -
OH OH oH
NOZ o
3

4y} (0 amy

(A) MI>1>q
©) > B) 1>1n>1I
LA1-48) G (D) nm>1>11

5 [P,T-O' ]
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" One litre of a buffer solutioy

1

(43

144

145

l46

cl and 0.1M NH,OH having pK, of

5 has pH of - Containing 0.01 M NHj
e IO fawgs &

::a?[pﬁg“ﬂﬁ_ ﬁO‘OIMNH‘;ClHﬂTO_lMNH‘,fOH% | 59% T pK, &1 A1 5% @

A 9

C) 4 () 10

(D) 6

If pH of solution is 5.2, then its pOH will be -

aft el fea BT pH 52 % 4 g pom g -
(A) 48 (B) 58
© 638 D) 88

Which of the following solution acts as a buffer ?

et & & B-—a1 T a9t & w9 & o wtar ¥ 7

(A) HCI + NaCl (B) NaOH + HCI

(C) CH3COOH + CH3COONa (D) HCOOH + HCOONH,

The total pressure of a mixture of two gases is -

(A) The sum of partial pressure of each gas

(B) The difference in partial pressure of both the gases
(C) The product of partial pressure of both the gases
(D) The ratio of partial pressur® of both the gases

Rt @ it % Py 1 g T E -
(A) weiw g ¥ ot a@ @ AT
B) 2 et & arifyrs T BT
© i i @ orifes @ 1 TTE
D) 2 et @ ey 7@ P AL

_ nRT, which one cannot be the nymerical value of R ?

In ideal gas equation PV J el

(A) 8314 x 107 erg m?r

(B) 8.314 J mol™! K#] P

(C) 8314 Pam’ moll“K_If

D ol” : '

;éﬁi,::mm PvﬁnRTﬁ.ﬁWﬁﬁmmewﬁmmaﬁﬁm?
H‘{“a;[ I | - |

(A) 8314 x 107 & *

-1
B) 8314 wqw AT Ijﬁm,, K-
(©) 8314 ursd T "

(D) 8314 qrgaveed O i

lLAL‘is] G ‘ [P.T.O.




's law 1S =
147 Correct representation of Boyle's

148

149

150

araw F Praw o q@ FE € -
@ Pt o
AV V-
©) P71 \ s gt
V- =

Which is not correct statement in terms of kinetic theory of gases ?

(A) Gases are made up of small particles called molecules.
(B) The molecules are in random motion.

(C) When molecules collide, they lose energy. _

(D) 'When the gas is heated, the molecules move faster. o
W%ﬂmmﬁfﬁm%mﬁsﬁé'ﬁmwmwﬁ%?
(A) ﬂaq&rwﬁﬁﬁwaﬁ%ﬁﬁwmﬁ%u

B) Hﬂaﬁﬂﬁﬂf&iﬂﬁﬁﬁﬂiﬁﬁr%'l_ ,

(©) oSl S e T B v ol @y why O B

(D) ﬁﬂaﬁwﬁwﬁwaﬂeﬁa&qﬁ{wm%l

Unit of surface tension :

T T B T ¥ -
* dynej o (B) ergs/cm
e D) Nm

The internal resistance to flow ip l'. “ .
1quid lled -
(A) Fluidity S8 Sl

ific resistance
(C) Viscosity (B) Specifi

(D) Surface tension

(A) e -
(©) waF Eg ﬁﬂ":ﬂ;‘“':
LA1-43]1 O =

30 g




